# **QUOTE CONFIRMATION**



### **DEAR ISAAC GOYETTE,**

Thank you for considering CDW•G for your computing needs. The details of your quote are below. <u>Click here</u> to convert your quote to an order.

QUOTE #	QUOTE DATE	QUOTE REFERENCE	CUSTOMER #	GRAND TOTAL
HNDG789	11/21/2016	APC UPS	6566221	\$27,481.44

QUOTE DETAILS				
ITEM	QTY	CDW#	UNIT PRICE	EXT. PRICE
APC Smart-UPS SRT 5000VA RM - UPS - 4250 Watt - 5000 VA - with 208V to 120V	6	3828889	\$3,675.00	\$22,050.00
Mfg. Part#: SRT5KRMXLT-5KTF				
UNSPSC: 39121011				
Contract: PAEC AEPA Affiliate Agreement (13-07)				
APC Smart-UPS SRT 192V 5kVA and 6kVA RM Battery Pack - battery enclosure -	6	3565771	\$905.24	\$5,431.44
Mfg. Part#: SRT192RMBP				
UNSPSC: 26111723				
Contract: PAEC AEPA Affiliate Agreement (13-07)				

PURCHASER BILLING INFO	SUBTOTAL	\$27,481.44
Billing Address:	SHIPPING	\$0.00
ACCTS PAYABLE	GRAND TOTAL	\$27,481.44
5683 US HIGHWAY 129 S STE 1 JASPER, FL 32052-6794 Phone: (386) 792-1228 Payment Terms: NET 30 Days-Govt/Ed		
DELIVER TO	Please remit payments to:	
Shipping Address: HAMILTON COUNTY SCHOOL BOARD ISAAC GOYETTE 5683 US HIGHWAY 129 S STE 1 JASPER, FL 32052-6794 Phone: (386) 792-1228 Shipping Method: UPS Freight LTL, Special Services	CDW Government 75 Remittance Drive Suite 1515 Chicago, IL 60675-1515	

Need	Assistance?	CDW•G SALES CONTACT IN	IFORMATION	
Ashley Bruser	ı	(877) 698-5228	1	ashlbru@cdwg.com

For more information, contact a CDW account manager

© 2016 CDW•G LLC, 200 N. Milwaukee Avenue, Vernon Hills, IL 60061 | 800.808.4239



AUDIO VIDEO LIGHTING

7 Midway, Road Thomasville, GA 31757 p: 229.378.8866 f: 229.378.8099

# ESTIMATE

QUOTE#	SLIQ1523-05		
DATE	Nov 18, 2016		

### Prepared For:

Isaac Goyette Hamilton County School District 5683 US Hwy 129 S, Ste. 1 Jasper, FL 32052 United States isaac.goyette@hamiltonfl.com

### Prepared By:

Stan Mobley 7 Midway Rd Thomasville, GA 31757 USA



stan@slintegrated.com 229-378-8866

SALESPERSON	P.O. Number	PAYMENT TERMS	DUE DATE
Stan		NET 15	11/23/2016

DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
Classroom A/V System	'		
TruTouch 70" HD LED Multi-touch Interactive Display. Includes TruTouch 550/650/700/X5/X7 Wall Mount if placed with original PO.	63	\$3,314.74	\$208,828.62
NewLine EPRRAGUTO-060			
TruTouch On-Board Computer (HD video) Intel Core i5-2520M CPU, 4GB, 500GB 5400RPM	63	\$662.11	\$41,712.93
HewLine EFR8A61900-090			
OWI Two input/source amplified drop ceiling speaker on a 2x2 metal tile and backcan. 6.5 inch Co-axial, 40 Watt Max Power, FR: 50Hz - 15kHz, Sensitivity 86dB. UL Listed, Includes 1 ea. 2X2AMP-R2S61 and 1 ea. 2X2IC6NA, sold as combo	63	\$282.00	\$17,766.00
OWI 252AMP-92582			
Elmo MO-1 Visual Presenter - 0.31" CMOS - 5 Megapixel Multi-function document camera	63	\$377.62	\$23,790.06
Elmo Company, Ltd 13\$7-1			
Elite Corp Custom double gang wall plate with two (2) HDMI and USB pass-through - Aluminum	63	\$45.00	\$2,835.00
ECHDOUT-CUST			
10-Meter High Speed HDMI UltraHD 4K with Ethernet Cable	126	\$32.39	\$4,081.14
Smartline HDG-10MC			
5-Meter High Speed HDMI UltraHD 4K with Ethernet Cable	126	\$17.99	\$2,266.74
Smarlline HDG-5MC			
30ft 3.5mm Mini-Stereo Male to Male Speaker Cable	63	\$11.34	\$714.42
Smartine CC490M-30-5B			
Miscellaneous cables, cords and connectors. Expendables and mounting supplies, toggles, anchors and cable hangers as required.	63	\$46.15	\$2,907.45
Miss Cables & Hardywes			

DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
Labor - Installation - Provide and install each Classroom/Meeting room system with 70" interactive TV, dual ceiling mounted tile speaker system, wall plate, cabling and extensions, document camera. Power, data and conduit supplied by others. Based on two (2) technicians @ 3 hours per room.	63	\$510.00	\$32,130.00
Installation Labor			
Shipping and handling - Cost per room for all items	63	\$40.00	\$2,520.00
Shloping & Handling			

 SOLUTION SUBTOTAL
 \$339,552.36

 SHIPPING
 \$0.00

 SALES TAX
 \$0.00

 GRAND TOTAL
 \$339,552.36

 DEPOSIT REQUIRED
 \$239,853.32

Please remit to: P.O. Box 7912 Thomasville, GA 31758

To accept this quotation, sign here and return:	
---	--

Thank You For Your Business!



AUDIO VIDEO LIGHTING

7 Midway, Road Thomasville, GA 31757 p: 229.378.8866 f: 229.378.8099

# ESTIMATE

QUOTE#	SLIQ1524-03		
DATE	Nov 20, 2016		

### Prepared For:

Isaac Goyette Hamilton County School District 5683 US Hwy 129 S, Ste. 1 Jasper, FL 32052 United States isaac.goyette@hamiltonfl.com Prepared By:

Stan Mobley 7 Midway Rd Thomasville, GA 31757 USA

stan@slintegrated.com 229-378-8866

SALESPERSON	P.O. Number	PAYMENT TERMS	DUE DATE
Stan		NET 15	11/23/2016

DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
Public Address Distributed Audio System	· · · ·		
QSC AC-C4T 4" Ceiling Mounted Loudspeaker	142	\$61.25	\$8,697.50
QSC Autio AC-04T			
Crown CDI-1000 Solid-State 2-Channel Amplifier 500W Per Channel, 70V	7	\$626.72	\$4,387.04
Crown CDI 1090			
West Penn 16AWG speaker cable	18	\$189.00	\$3,402.00
West Penn 225			
Miscellaneous cables, cords and connectors.	1	\$850.00	\$850.00
Miss Cables & Harriwan			
Labor - Installation of Corridor and room ceiling mounted speakers, amplifiers and cabling to connect with OFE VOIP Phone paging system for campus public address and announcements. This system will also be tied into the Primary input of the Classroom A/V system with Priority Ducking for Announcements and Life Safety events. Based on two (2) techs at 1/3 hour per speaker. 203 total speakers/connections in system	68	\$170.00	\$11,560.00
Installation Labor			

 SOLUTION SUBTOTAL
 \$28,896.54

 SHIPPING
 \$700.00

 SALES TAX
 \$0.00

 GRAND TOTAL
 \$29,596.54

 DEPOSIT REQUIRED
 \$14,798.27

Please remit to: P.O. Box 7912 Thomasville, GA 31758

Thank You For Your Business!	To accept this quotation, sign here and return:	
THAIR TOUTOUT BUSINESS!		Thank Vou For Vour Dusings !
		mank rourof rour business:



AUDIO VIDEO LIGHTING

7 Midway, Road Thomasville, GA 31757 p: 229.378.8866 f: 229.378.8099

# ESTIMATE

QUOTE#	SLIQ1525-04
DATE	Nov 21, 2016

### **Prepared For:**

Isaac Goyette Hamilton County School District 5683 US Hwy 129 S, Ste. 1 Jasper, FL 32052 United States isaac.goyette@hamiltonfl.com

#### Prepared By: Stan Mobley 7 Midway Rd Thomasville GA 3175

Thomasville, GA 31757 USA

stan@slintegrated.com 229-378-8866

SALES	PERSON	P.O. Number	PAYMENT TERMS	DUE DATE
	Stan		NET 15	11/24/2016

Cafeteria A/V and Lighting Systems  AUDIO SYSTEM  Main Speaker System & Subwoofers	QTY	UNIT PRICE	TOTAL PRICE
Main Speaker System & Subwoofers			
4" Ceiling Mounted Loudspeaker	60	\$61,25	\$3,675.00
QSC Audio		·	. ,
Tannoy Tile Bridge subwoofer. 70V, 60W passive ver	12	\$599.30	\$7,191.60
Tannoy	12	4000.00	ψ1,101100
Floor Boxes for Audio and A/C Power on Stage			
FL-540P Box - 6" Deep	3	\$177.19	\$531.57
FSR		4	<b>4001.01</b>
Cover (No Flange) With Hinged Door in Black Sandte	3	\$308.44	\$925.32
FSR		Ψ300.44	Ψ323.32
Digital Signal Processor and Amplifiers			
Biamp Tesira Audio Processor - 12x8	1	\$1,623.75	\$1,623.75
BiAmp	'	ψ1,020.70	Ψ1,020.70
Solid-State 2-Channel Amplifier 800W Per Channel	3	\$849.45	\$2,548.35
Crown		ψ0+0.+0	Ψ2,040.00
Wireless Microphones			
Includes SLX4 Diversity Receiver, SLX1 Bodypack Transmitter, Microflex®WL185 Cardioid	2	\$790.00	\$1,580.00
Lavalier Microphone, SLX2/SM58 Handheld Transmitter with SM58 Microphone	2	Ψ100.00	Ψ1,000.00
Shure, inc. SLX124/85/SM58-G4			
Five-way active antenna splitter and power distribution system for QLX-D®, ULX®, ULX-D®, SLX®, and BLX® (BLX4R only) receivers. (470-952 MHz)	1	\$473.75	\$473.75
Shure, Inc. UAB44+SWB			

DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
Lightweight omni-directional headset - Shure TA4F connector	2	\$153.71	\$307.42
Galexy Audio	_	,	*
Equipment Rack & Accessories			
Strong 16U wall mount rack system with swing kit and locking Plexiglass door	1	\$475.48	\$475.48
SnapAV	'	Ψ170.10	Ψ170.10
Strong Lockable Rack Drawer 3U	4	CO4 45	¢04.45
SnapAV	1	\$81.45	\$81.45
SR-DRAWER-3U			
Rack screws, blanks and accessories	1	\$206.25	\$206.25
Misc			
Juice Goose CQ-1520 - 20 AMP 3 group power sequencer	1	\$372.00	\$372.00
Juice Goose CQ1520			
Basic power distribution for rack mounted equipmen	1	\$60.00	\$60.00
Juice Goose JG8			
Denon 300C - Rackmount CD/Media Player	1	\$199.00	\$199.00
Denon Pra		<b>V.00.00</b>	ψ.00100
Audio System SubTotal			¢20.250.04
Addio System SubTotal			\$20,250.94
VIDEO SYSTEM			
Projector			
Hitachi WXGA resolution, 6,500 lumens Projector	1	\$3,201.22	\$3,201.22
Hitachi		, ,	
Suspended ceiling projector kit with JR3 universal adapter	1	\$189.08	\$189.08
Crimson	'	ψ109.00	\$109.00
JKS3-11A			
Custom length drop pipe to extend from ceiling to projector mount for proper screen position	1	\$80.00	\$80.00
Video Screen			
	1		
Large Cosmopolitan Electrol - 16:9 HDTV format ceiling or wall mounted motorized screen. 106" x 188" (216" diagonal), Matte white w/ LVC	1	\$2,259.53	\$2,259.53
De-Lite			
Screen Rigging Hardware	1	\$250.00	\$250.00
Colocii Ngging Haraware	'	\$230.00	\$230.00
Wall Mount VGA & HDMI Transmitter & Receiver System and accessories			
Wall Plate DigitalMedia 8G+® Transmitter 200, White Textured	4	0075.00	<b>4075.00</b>
vvaii Plate Digitaliviedia 8G+® Transmitter 200, vvnite Textured	1	\$875.00	\$875.00
DM-TX-200-C-2G-W-T			
4K DigitalMedia 8G+® Receiver & Room Controller 100	1	\$562.50	\$562.50
Crestron dm-mc-dk-100-c			
	1	\$399.00	\$399.00

DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE
Category 6 UTP Cable 4 Pair	1	\$189.00	\$189,00
West Penn	'	Ψ103.00	Ψ100.00
4246	_	<b>*</b> 40 <b>=</b> 00	4070.00
22AWG installation mic/line cable	2	\$135.00	\$270.00
West Penn 291			
15ft CMG-Rated VGA and 3.5mm A/V Cable	1	\$35.00	\$35.00
C2G 50227			
15ft High Speed with Ethernet HDMI Cable	1	\$20.00	\$20.00
C2G 50612			
Video System SubTotal			\$8,330.33
			, -,
THEATRICAL LIGHTING SYSTEM			
Front Wash			
Ovation E-910FC - 36deg Includes: Engine, 36deg HD Lens Tube, Gel Frame, powerCON	16	\$1,199.00	\$19,184.00
Power Cord Control: 3-pin DMX, 5-pin DMX			
Chauvet OVATIONE910FC36			
Rear Stage			
ETC Selador Vivid-R 21" LED wash fixture. Dual cell	6	\$2,380.04	\$14,280.24
ETC 7400A1172			
ETC Selador Horizontal Lens - 40 Degree	6	\$31.85	\$191.10
ETC			
Lighting Bar Hardware			
Hardware and accessories for front wash & rear stage lighting bars as required. Includes:	1	\$3,250.00	\$3,250.00
Bars, Rigging Hardware, Mounts, Clamps, Powercon extensions, misc.	I	\$5,230.00	\$3,230.00
Misc			
Lighting Control Software			
Titan One Dongle - Titan Operating System; 1 DMX output; Requires Titan PC Suite (free for	1	\$250.00	\$250.00
download) on Windows PC; No Time Restrictions or Resetting of Software Needed			
Avoites 30-01-9600			
Lighting System SubTotal			\$37,155.34
CONTROL SYSTEM			
Crestron 3-Series 4K DigitalMedia presentation system 150	1	\$3,125.00	\$3,125.00
Crestron DMPS3-4K-150-C			
Crestron 7" Touch Screen, Black Smooth	2	\$1,000.00	\$2,000.00
Crestron tsw-752-B-S			
Crestron 5-Port POE Switch	1	\$250.00	\$250.00
Crestron		, , , , , , , , , , , , , , , , , , ,	<del></del>
DigitalMedia 8G Cable, non-plenum, 500 ft spool	4	#00F 00	<b>#005.00</b>
	1	\$225.00	\$225.00
Crestron DM-CBL-6G-NP-SP500			

DESCRIPTION	QTY	UNIT PRICE	TOTAL PR <b>I</b> CE
DigitalMedia 8G Cable Connector, 100-Pack	0.2	\$312.50	\$62.50
Crestron DM-8G-CONN-100			
Control System SubTotal			\$5,662.50
nstallation Services, Programming, Commissioning & Training			
Labor to include: Installation Services, Programming, Commissioning & Project Management	2	\$6,800.00	\$13,600.00
Labor			
Travel, Stay, Per Diem	1	\$2,600.00	\$2,600.00
Travel, Stay, Per Diem			
Category 6 UTP Cable 4 Pair	2	\$189.00	\$378.00
West Penn 4246			
22AWG installation mic/line cable	3	\$135.00	\$405.00
West Penn 291			
12AWG installation mic/line cable	2	\$380.00	\$760.00
West Penn 227			
DMX Dura-Flex Cable, 22 Gauge, 2 pair, Black - Spool	2	\$400.00	\$800.00
22/4WS			
Miscellaneous cables, cords, connectors and other expendables used in the integration process.	1	\$1,131.30	\$1,131.30
Misc Cables & Hardware			
Installation Services SubTotal			\$19,674.30
	SOLUT	ION SUBTOTAL	\$91,073.4
		SHIPPING	\$1.450.0

 DLUTION SUBTOTAL
 \$91,073.41

 SHIPPING
 \$1,450.00

 SALES TAX
 \$0.00

 GRAND TOTAL
 \$92,523.41

 DEPOSIT REQUIRED
 \$46,261.71

Please remit to: P.O. Box 7912 Thomasville, GA 31758

To accept this quotation, sign here and return:	

Thank You For Your Business!



#### November 10, 2016 Hamilton County School District Preliminary Proposal

#### One Card Solution Hardware Quote

Data Center License (Annual)	Qty	Rate	Year 1	Year 2	Ongoing
Door Access	1	\$500.00	\$500.00	\$500.00	\$500.00
Hamilton County Elementary School Doors					
Hardware					
Card Issuance Station with Printer (for district-wide printing)	1	\$4,200.00	\$4,200.00	\$0.00	\$0.00
WPIP POE Classroom Readers	70	\$200.00	\$14,000.00	\$0.00	\$0.00
Door Access WPIP Readers (with Relay and Pin Pad)	145	\$250.00	\$36,250.00	\$0.00	\$0.00
Hardware Sub-Total			\$54,450.00	\$0.00	\$0.00
On-Site Hardware Maintenance					
Card Issuance Station	1	\$150.00	\$150.00	\$150.00	\$150.00
In-School Software Maintenance					
Card Issuance Station	1	\$295.00	\$295.00	\$295.00	\$295.00
Year one Total			\$55,395.00	\$945.00	\$945.00
Prepared by Dustin Kralle, ScholarChin, 5301 Tacony St. Philadelphia PA 19137, T: 516 827 5081 x 220, F: 516 53	1-9074	•			

Prepared by Dustin Kralle, ScholarChip, 5301 Tacony St, Philadelphia, PA,19137, T: 516 827 5081 x 220, F: 516 531-9074

## Dinamic Service Solutions Inc.

### **Estimate**

2074 Reef Court

Spring Hill, Florida 34606

PHONE NUMBER: 727-389-8886

EMAIL ADDRESS: dinamicservicesinc@yahoo.com

Building Contractor License - CBC-1251918
Plumbing Contractor License - CFC-1429334
Electrical Contractor License - EC-0001927
Florida Backflow Certification - T03-15-10718

Date	Estimate #
11/21/2016	519

Name / Address				
HAMILTON COUNTY SCHOOL DISTRICT ATTN: THOMAS MOFFSES ATTN: ISAAC GOYETTE 5683 US HWY 129			Project	
JASPER, FLORIDA 32052	NEW EI	.EMENT	ARY SCHOOL	ESTIMATE
Description		Qty	Rate	Total
THIS ESTIMATE IS FOR (CLASSROOM & BUILDING NETWORK OF A PROJECT FOR HAMILTON COUNTY SCHOOL SYSTEM. THIS EST THE FOLLOWING: AS REQUESTED BY HAMILTON COUNTY SCHOONTRACTOR SHALL PROVIDE LABOR ONLY. HAMILTON COUNTY SYSTEM WILL PROVIDE THE DESIGN OF THE PROJECT, PROVIDE AND EQUIPMENT SCHEDULE REVIEW, PROVIDE SUPERVISION MATERIALS, AND OBTAIN ANY NECESSARY PERMITS, APPROVIDES BY HAMILTON COUNTY SCHOOL STAFF. THE CONTRINSTALL AND WIRE "SCHOLAR CHIP" BRAND DATA NETWORK OF DIRECTED BY HAMILTON COUNTY SCHOOL STAFF. THE CONTRINSTALL AND WIRE "SCHOLAR CHIP" BRAND DATA NETWORK OF PRODUCTS AS DIRECTED BY HAMILTON COUNTY SCHOOL STAFF. THE CONTRINSTALL AND WIRE "SCHOOL BUILDING ESTIMATE—  (1) ALL LABOR SHALL BE SUPPLIED AT THE RATE OF \$85 PE  (1) SCOPE OF WORK IS BASED ON COUNTS AND NARRATIVE THOMAS P. MOFFSES RFQ SUPPLIED TO CONTRACTOR BY E-MEDITAL 2016. SEE ATTACHED DOCUMENT  (138) *NETWORK CONTROLS ADDED TO SECURED DOORS REEXCEED) 2.5 HOURS PER DOOR, RATE (2.5 HOURS X \$85) X 1  (65) NETWORK CONTROLS ADDED TO CLASSROOMS REQUIRING (65) NETWORK CONTROLS ADDED TO CLASSROOMS REQUIRING (7) HALLWAY NETWORK POWER SUPPLY LOOPS REQUIRING (7) HALLWAY NETWORK POWER SUPPL	STIMATE INCLUDES OOL SYSTEM, THE NTY SCHOOL DE BUILDING PLAN , PROVIDE VAL AND OR CONTROLS AS RACTOR SHALL (CONTROL AFF IN ACCORDANCE  RR HOUR SUPPLIED BY MAIL ON NOVEMBER  EQUIRING (NOT TO .38 = \$29,325  NG (NOT TO ) X 65 = \$2762.50  (NOT TO EXCEED) 4  OM THE DATE		34,467.50	34,467.50
LISTED ABOVE. IF YOU HAVE ANY QUESTIONS PLEA TIM GOYETTE @ (727-389-8886)		Tota	ıl	

## Dinamic Service Solutions Inc.

## **Estimate**

2074 Reef Court

Spring Hill, Florida 34606

PHONE NUMBER: 727-389-8886

EMAIL ADDRESS: dinamicservicesinc@yahoo.com

Building Contractor License - CBC-1251918
Plumbing Contractor License - CFC-1429334
Electrical Contractor License - EC-0001927
Florida Backflow Certification - T03-15-10718

Date	Estimate #
11/21/2016	519

Name / Address						
HAMILTON COUNTY SCHOOL DISTRICT ATTN: THOMAS MOFFSES ATTN: ISAAC GOYETTE	Project					
5683 US HWY 129 JASPER, FLORIDA 32052	NEW ELEMENTARY SCHOOL ESTIMATE					
Description		Qty	Rate	Total		
HOURS PER LOOP, RATE (4 HOURS X \$85) X 7 = \$2380.00						
TOTAL AMOUNT OF ESTIMATE - \$34,467.50 DOLLARS -						
ANY LABOR REQUESTED BY OWNER IN ADDITION TO THE ABO SUPPLIED AT \$85 PER HOUR	VE SCOPE WILL BI	E				
*THE ABOVE NETWORK CONTROLS FOR SECURED DOORS LAI REQUIRES ACCESS FOR THE CONTRACTOR TO PROVIDE THE E WIRE (#5 ON THE RFQ) PRIOR TO THE INSTALLATION OF THE I BY THE DOOR CONTRACTOR. ADDITIONAL LABOR TO ACCESS RACEWAY MAY BE REQUIRED IF THIS PROVISION IS NOT FULF	LECTRIFIED HINGE DOOR HARDWARE THE HINGE	1				
		:				
THIS ESTIMATE WILL BE VALID FOR ( 30 ) DAYS FRO						
LISTED ABOVE. IF YOU HAVE ANY QUESTIONS PLEAS TIM GOYETTE @ (727-389-8886)	SE CONTACT	Total				

## Dinamic Service Solutions Inc.

## **Estimate**

2074 Reef Court

Spring Hill, Florida 34606

PHONE NUMBER: 727-389-8886

EMAIL ADDRESS: dinamicservicesinc@yahoo.com

Building Contractor License - CBC-1251918
Plumbing Contractor License - CFC-1429334
Electrical Contractor License - EC-0001927
Florida Backflow Certification - T03-15-10718

Date	Estimate #
11/21/2016	519

	7						
Name / Address							
HAMILTON COUNTY SCHOOL DISTRICT ATTN: THOMAS MOFFSES ATTN: ISAAC GOYETTE 5683 US HWY 129	Project						
JASPER, FLORIDA 32052	NEW ELEMENTARY SCHOOL ESTIMATE						
Description	1	Qty	Rate	Total			
				•			
THIS ESTIMATE WILL BE VALID FOR ( 30 ) DAYS FRO LISTED ABOVE. IF YOU HAVE ANY QUESTIONS PLEA TIM GOYETTE @ ( 727-389-8886 )		Total		\$34,467.50			
	l l						



### **Hamilton County School District**

5683 US Highway 129 South – Suite 1 Jasper, Florida 32052

Phone: 386.792.7800 - Fax: 386.792.3681

Thomas P. Moffses, Jr., Superintendent

School Board Members Cheryl McCall – District 1 Gary Godwin – District 2 Jeanie Daniels – District 3 Johnny Bullard – District 4 Suezette Wiggins – District 5

November 1, 2016

Dinamic Service Solutions Inc 2074 Reef Court Spring Hill, Florida 34606

RE: Request for Quote for Scholarchip Door and Classroom Readers

Counts

138 secured doors. 65 classrooms.

#### Each door will need:

- Run a power line from the junction box back to the power supply in the IT closet on that wing. (The power for the doors may also be daisy chained together) The power supply is provided by the electrician.
- 2. Install the WPIP Webpass outside the door.
- 3. Run a R\$485 and power line from the junction box to the WPIP.
- 4. Install the WPIP Relay in the junction box.
- 5. Run a wire from the electrified hinge to the junction box.
- 6. Install and wire a door contact.

The WPIP Relaybox is connected to the WPIP via RS485 and will mount in a provided 12x12x4 junction box above each door.

#### The following is provided:

- 1. All boxes and conduits with pull string.
- 2. Locks and wire up to electric hinge.
- 3. Junction box
- 4. Scholarchip will IP the units before shipping
- 5. CAT6 is run to the WPIP reader

#### Classroom Attendance:

Need a classroom attendance device installed. It is the same as a WPIP Webpass. The CAT6 will already be run.

One each classroom you will need to: Install the WPIP Webpass unit

Please forward all RFQ information to: Isaac Goyette Coordinator of Information Technology Hamilton County School District isaac goyette@hamiltonfl.com Office: 386-792 7825 5683 US Highway 129 South

Jasper, FL 32052

Thomas P. Moffses, Jr.



#### QUOTATION

Hamilton County School District 5683 US Highway 129 South, Ste 1 Jasper, FL 32052

**UDT** 840 Crescent Centre Drive Suite 160 Franklin, TN 37067

Billy Merchant Account Executive Direct: 850-329-6215 bmerchant@udtonline.c

Jason Motter Account Manager Office: 786-364-6012 Fax: 305-882-0436 imotter@udtonline.com

Quote Number: HCSD111116-01 November 11, 2016

Prices Valid for 15 days Unit

Qty	Description		Price		Price	Part #
1 1 23 23 24 23 46 23	Cisco Hardware  SNTC-8X5XNBD Catalyst 6807-XL 7-s 12 Months SNTC-8X5XNBD Cisco Catalyst 6880- 12 Months C6800IA Instant Access POE+ Switch w Redundant PS capability SNTC-8X5XNBD C6800IA Instant Access POE+ Switch- Months 1025W AC Config 2 Power Supply Cisco FlexStack 50cm stacking cable North America AC Type A Power Cable Catalyst 6807 and Sup2T as IA Parent - For Tracking Only	\$ \$ \$ \$ \$ \$ \$ \$	4,686.05 2,558.50 4,830.00 223.55 667.00 - -	\$ \$ \$	4,686.05 2,558.50 111,090.00 5,141.65 16,008.00	CON-SNT-C6807XLC CON-SNT-C6880XLE C6800IA-48FPDR CON-SNT-68IA48PR PWR-C2-1025WAC CAB-STK-E-0.5M CAB-TA-NA C6807-IA-PARENT
	Total Investment:			\$	139,484.20	
	Approval P.O. Number	-		Date		



MNJ Technologies Direct, Inc.

Buffalo Grove, IL 60089-4504

**BILL TO:** (00-6023006)

Jasper, FL 32052

Hamilton County School District

5683 US Highway 129 South

1025 Busch Pkwy

(847) 634-0700

**QUOTE** 

DATE

QUOTE NO

11/21/2016

0000973798

P.O.:

PRINTED:

Nov 21, 2016

4:57 pm

ORDERED BY:

Isaac Goyette

SALESPERSON: Bryan Markey

EMAIL: bmarkey@mnjtech.com

PHONE NO: (847) 876-8828 EXT: 8328

**SHIP TO:** (9999)

Hamilton County School District 5683 US Highway 129 South

Jasper, FL 32052

ATTN:

ATTN: Isaac Goyette Phn: 3867927825

Email: isaac.goyette@hamiltonfl.com

Email: isaac.goyette@hamiltonfl.com					
LN	PRODUCT QTY O	RD	DESCRIPTION	PRICE (\$)	AMOUNT (\$)
1	MNJ12061534	1	Exacq Technologies, Inc - LICS 128MAX DUAL GB NIC HDMI DVI-I	13,785.27	13,785.27
			MFG PART NO. :IP08-36T-R4Z-E		
			CONTRACT NAME: AEPA-FL		
2	MNJ8882687	1	Exacq Mounting Rail Kit for Server	79.86	79.86
			MFG PART NO. :5000-20070		
			CONTRACT NAME: AEPA-FL		
3	MNJ11579387	1	Exacq Technologies, Inc - SERIES RECORDERS	1,652.51	1,652.51
			MFG PART NO. :5000-40216		
			CONTRACT NAME: AEPA-FL		
4	MNJ11579669	1	Exacq Technologies, Inc - 120GB MSATA W7P	503.74	503.74
			MFG PART NO. :5000-40375		
			CONTRACT NAME: AEPA-FL		
5	MNJ11720689	67	Exacq Technologies, Inc - EXACQVISION PRO SVRS	147.43	9,877.81
			MFG PART NO. :EVENIP-01		
			CONTRACT NAME: AEPA-FL		
6	MNJ12178084	18	Samsung Techwin WiseNet QNV-7080R 4 Mega	361.41	6,505.38
			MFG PART NO. :QNV-7080R		
			CONTRACT NAME: AEPA-FL		
7	MNJ9724601	18	Samsung SBP-300WM1 Wall Mount for Surveillance Camera	46.12	830.16
			D 1		CONTINUE

Page: 1 CONTINUED

LN	PRODUCT QTY	Y ORD	DESCRIPTION	PRICE (\$)	AMOUNT (\$
			MFG PART NO. :SBP-300WM1		
			CONTRACT NAME: AEPA-FL		
8	MNJ11128010	18	Samsung Mounting Adapter for Surveillanc	28.61	514.98
			MFG PART NO. :SBP-301HM2		
			CONTRACT NAME: AEPA-FL		
9	MNJ12178068	57	Samsung - 4MP INDOOR DOME NETWORK CAMERA, WISESTREAM TECHNOLOGY,H.265 CODEC, TRIPLE STREAM	326.37	18,603.0
			MFG PART NO. :QND-7080R		
			CONTRACT NAME: AEPA-FL		
nanks f	or the opportunity. V	Ve annre	eciate all your business	Net Order: Sales Tax: Shipping Charges: Total: Less Deposit:	\$52,352. \$0. \$0. \$52,352. \$0.

TERMS

Credit Card

FOB

SHIP VIA

FEDEX GROUND